Interim Test  4B3    Name   _______________________________________

1.
Blair was paid £195 for working a 30 hour week.  In another week he worked 36 
hours. What was his pay that week?
2. 
Andy left Memsie at 10.25 am and travelled by car to Jamie’s house arriving at 12.10 pm. 

The average speed of the journey was 58 km/hr. Calculate the distance to Jamie’s house.

3.
Given that a = 4, b = -8 and c = -2, find the value of:-


(a)  a+ b
(b) b + c
(c) a – c 
(d) b – c
(e) ab



4. 
The diagram shows a farmer’s field.

There is a fence round the field.

Calculate the length of the fence.

5.
Mrs. Parton had her washing machine repaired last week. The engineer calculated 


the cost of his visit using this rule:

	Total Cost (£) = Call out charge + (15 
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 number of hours) + cost of parts



Mrs Parton’s bill came to £104 which included a call out charge of £20 and £24 for parts.

Calculate how many hours it took the engineer to carry out the repair.
6.
For a TV show contestants have to buy items in France and then bring them back to 
the UK and try to sell them to make a profit.


Alison bought a picture which cost her 245 Euros in France and sold it back in the 
UK for £180.


How much profit did Alison make on the picture? [Take £1 = 1.38 Euros in your 
calculations]
7.
 Richard and William both travel the 40 miles from Fraserburgh to Aberdeen one Saturday. The graph shows their journeys.

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	



(a)
When does each person leave Fraserburgh?


(b)
When does Richard pass William?

(c)
At what time and for how long does William stop for petrol?

(d)
How far away from Aberdeen was Richard when William stopped for petrol?

(e)
At what time did each person arrive in Aberdeen?

(f)
Is William travelling faster or slower after he filled up with petrol? Give a reason for your answer.


(g) 
Calculate the average speed for each boy over the whole journey.

8.
The diagram shows a tent. 

The sloping edges are 2 metres long, 

the base of the triangle is 1.8 metres. 


Calculate the height of the tent.

9.
For a TV show contestants have to buy items in France and then bring them back to 
the UK and try to sell them to make a profit.


Alison bought a picture which cost her 245 Euros in France and sold it back in the 
UK for £180.


How much profit did Alison make on the picture? [Take £1 = 1.38 Euros in your 
calculations]
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